MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Laminators, Inc.

3255 Penn Street

Hatfield, PA 19440

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Omega-Lite Aluminum Wall Panels

APPROVAL DOCUMENT: Drawing No. LAM 1 to 6, titled “System 1 on 5/8”Plywood and Poured
Concrete, System 6 on 5/8 Plywood and Concrete block & System 4 on Poured Concrete and Concrete
Block?”, sheets 1 through 6 of 6, prepared by Laminators, Inc., dated 05/14/04, signed and sealed by Richard
Boyette, P.E., bearing the Miami-Dade County Product Control renewal stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-1126.02 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

MIAMIDADE COUNTY
APPROVED

NOA No. 09-0402.14
Expiration Date: July 01, 2014
Approval Date: June 10, 2009
Page 1




Laminators, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. LAM 1 to 6, titled “System 1 on 5/8”Plywood and Poured Concrete,
System 6 on 5/8 Plywood and Concrete block & System 4 on Poured Concrete and
Concrete Block”, sheets 1 through 6 of 6, prepared by Laminators, Inc., dated
05/14/04, signed and sealed by Richard Boyette, P.E.
“Submitted under NOA # 03-1126.02”

B. TESTS

1. Test report of Static Air Pressure Test per FBC, TAS 202, Cyclic Wind Pressure
Loading per FBC, TAS 203 and Tension Test per ASTM E8 of Omega-Lite
Aluminum Wall Panel, Report Test No. 01-44568.01, dated 08/07/03, signed and
sealed by Joseph A. Reed, P.E.

2. Test report of Ignition Properties Test per ASTM D1929, Rate of burning per ASTM
D635 and Density of Smoke per ASTM E84 of Omega-Lite Aluminum Wall Panel,
Report No. 01-50211.01, dated 04/30/04, signed and sealed by Joseph A. Reed, P.E.
“Submitted under NOA # 03-1126.02”

C. CALCULATIONS
1. Anchorage Calculations of Omega-Lite Aluminum Wall Panels, prepared by Richard
Boyette, sheets 1 & 2, dated 09/04/03, signed and sealed by Richard Boyette, P.E.
2. Anchorage Calculations of Omega-Lite Aluminum Wall Panels, prepared by Richard
Boyette, sheets 1 & 2, dated 05/18/04, signed and sealed by Richard Boyette, P.E.
“Submitted under NOA # 03-1126.02”

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. Aluminum Extrusions die drawings: A-9, A-10, A-11A-15, 478-6, 512-3b & 50295,
produced by Laminators, Inc., and Star Technologies, LLC.
“Submitted under NOA # 03-1126.02”

F. STATEMENTS
1. No change letter issued by Laminators, Inc., dated 03/20/09, signed by John T. Wrght.

2, Statement letter of code conformance issued by C-Buck Engineering, dated 09/25/08,
signed and sealed by James L. Buckner, P.E.
3. Statement letter of no financial interest issued by C-Buck Engineering, dated 09/25/08,

signed and sealed by James L. Buckner, P.E.
“Submitted under NOA # 03-1126.02” *

Carlos M. Utrera, P.E.
Product Control Examiner
NOA No. 09-0402.14
Expiration Date: July 01, 2014
Approval Date: June 10, 2009



¥ c:sof:)é‘; . #8 x 1"screws i o 'na)
PETAL HEAD @ 4" from panel Foam tape aluminum i A Vent
St edge & 10” o.c. : : [ " [ » 18" 0.C. intermediate’ . ents
T | (see note 1/4" Gaska Tape, seal & spring—_ flashing 16 16 spacing of 2"x6" Panel adhesive (typ)
) ! #3 for tf t (.016—.040 thk) | | pacing x6" stud (see note #4)
screw type) except for vent , .016—. —
= holes 1/8 X3/8., 1/4" Gaska Tape,— / - — 4 \ YA
-~ 2 per 8FT section except for vent - i ‘ B
= holes 1/8°x3/8", || : e \
2 per BFT section {k Rt 2! J—moldin 3/4” i
Y . |1 & g =] — dashed lines
1/4" Gaska Tape . i ,, e end of -gaps indi
2{ long, eveI'Yp 1 alul?:n.num - #8 x 1" screws Ve run (see between ;Iilzd;:ate panel
12" o.c. for ventin N coping cover @ 4" from panel as detail ".1) furring ™
<. g N N1 (.016—.040 thk) " 5 for -
\ | ~—Vapor retarder sealant edge & 10" o.c. = / ventilation
\ N+ (see note #l below) (see note #3 for =3 y -
§ >// L screw type) . —_—
T S
aluminum S g ;{41015};51;3;‘;1” .| L4+4—Panel adhesive g 7 /
flashing | | {4—5/8", 5 ply plywood , ' . (see note #4) =t 5 :
(.016-.040 thk) 4| on 2x6 studs 16".c. 12" o.c. for "ejtmg/\ 1 . ¢ gaé’;f"d‘n”
~~-1"] fastened w/8D common Panel adhere to ‘\ s N g <;- 0 Jomt (see
Panel adhesive‘/ \ N_L i1 nails @ 8" o.c. plywood w/ adhesive. \ ST | A i A il .2)
(see note #4) % | | A (see details on %/\ | B .S '
] PANEL ELEVATION) ~—1 Drip oSty
Panel adhere to_/\\\ Ramnd 5/8", 5 ply PIYWood—/\ ~S~—1" _ ?gﬁoﬁﬁng 10
plywood v_r/ adhesive. \% N L on 2x6 studs 16”o.c. ‘\ A\\_,/ 3 at . < N - 1 s
(See details on % \\—/‘/ fastened w/aD common j bOttOm/,w' = = (tYP)
PANEL ELEVATION) N T METHoD | nails @ 8" o.c. ‘/ 71’}1111 o
.| DESIGN PRESSURE Vapor retarder sealant o— ]
RATING 104 PSF . (see note #1 below) - YR ITYAT . e AR E YA ‘
i -l jlu/ie 'y o—1l 138/S1 —_—
‘ — ¢ Polyallomer
1a DETAIL 1b DETAIL —3/8" it into extrusion CPA core
Caulk fill PANEL ELEVATION moour renewrp 1——.015" white backer matfrlal
aulk filler os eamplying with the Florids /
'\ N%_U/ Buildieg Coge
\ N L~ Vapor retarder sealant #8 x 17 screws _ n S e N 6mm
N\ g PRty £ romoan g e |
N [: ::; 5/8", 5 ply plywood ' ?dge &tlo;;'?- edge & 10" o.c. L—.OSZ;’ aluminum skin
| <t i 9 see noie or " not 3 f Sy e
Panel adhere N on 2x6 studs 1670.c. screw type) 5/8", 5 ply plywood (see ni e #3 for  Divisig OMEG‘A“LITE
to plvwood N % fastened w/8D common on 2x6 studs 16%.c. screw type) fu
pLywo § e I B g nails @ 8" o.c. . fastened W/ 8D commo Vapor retarder sealant P ANEL DETAIL
w/adhesive. , Pecora silicone nails @ 8" o.c.
(see details on \ Nl T sealant with Zr (see note #1 below)
PANEL ELEVATION) \ i Ao \_(4) #6 x 1" screws backer rod pead of silicone FOR OFFICAL USE ONLY
. == == ealan
bead of silicone \ I~ 1 ® ,.6 from end & ES ==
\ 1 12” o.c. (see note #3 - L7 /£ [ [ /L [ /B LAY LB ST // [ [
Sealant \ N » ' rew type) A A Y Y A N == [/ [ ([ ([ [ [ /== [ [ [ [ [ ] [
drip edge \ ~1T or screw lype (Y A Y N Y Y i == L S Y A N == | Y Y I I O 8 A |
extrusion \ = LY AK VO VW U N WLV & U VO W LS O O VOO O VY O L D "7 L W WA
(see note #5) \ AL L 1/4" Gaska Tape, s B TR AN S
4 g //_ except for vent / / /
1/8"(min LY = holes 1/8"x3/8",
r o8l <] 1N 2 per 8FT section \_ \_ r R E #42485
2 bead of “—J molding 1/4" Gaska Tape d .
sa N L i trusi Panel adhere to H molding ut Bivd
T Zor — silicone - extrusion plywood w/ adhesive. extrusion Im Bch FL 33411
: ’ 1_ Self-Healing Sealant (see note #5) Panel adhesive (see details on (see note #5)
sill Sealant ~——End wall (see note #4) PANEL ELEVATION)

El‘imiﬂg:; . QSILL DETAIL @END DETAIL QJOINT DETAIL 6/(6/“/’SYSTFM 1 ON 5/8” PLYWOOD
LAMINATOR'S INC.

I~

[NOTE#1:] Vapor retarder sealant is @%‘Vood furring strips | [NOTE#3:] Screw types NOTEF47 Panel adhesive to | [NOTEF5:| All molding extrusion |5~20 SOUDERTON PIKE
called Polybrane 171, manufactured 0 be Southern Pine PT V'Vr ciBuﬂdex sclxl'errs(.l_ Stagﬂesi steel be Liquid Nails, heavy duty | made of Alloy 6063, temper HATFIELD, PA 19440
by Vitricon. It is a water shedding, | 1"x3"” nominal @ 16" o.c. ood screws, ol dipped galv. nstruction, LN901, lied - i i g
vapor permeable, liquid applied seagl gheet r};xet(all tscxi)ewsf, stainless steelf :g ply’wg 01:; q” diameteazl')p 1€ T-4. Thickness is 0.045". RICHARD BOYETTE, P E P E#42485
m-mbrane. Two coats apbplied. crew head to be for S6.sswoed oR \BGA STERL . ou %y . o w . ]

PP (see attached documentation for shear 3/8" thick, every 16" o.c. DATE: 5/ 1 4‘/ 04 REV.DATE:

and pullout test results) PAGE 1 OF 6 DWG NO: LAM-1




System 6 clip—-
(see note #5)

[ [ H
i
\

NN N N

#8 x 1"screws

® 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

————1/4" Gaska Tape

2” long, every
12" o.c. for venting

Vapor retarder sealant
(see note #1 below)

5/8", 5 ply plywood

on 2x6 studs 167o.c.
fastened w/8D common
nails @ 8" o.c.

1a) DETAIL

5 ™~ il
:a \\_/
] \ N LA
/ \ N LA
\\.—//
aluminum L+ /
flashing 3 q 47
(.016—.040 thk) =
: \ \_—.//
Panel adheswe_/ \ /
(see note #4) & \\_/;
Panel adhere to —/\ ]
plywood w/ adhesive. N A
(see details on \ q B
PANEL ELEVATION) N\ ™~

CLIP & CAULK METHOD
DESIGN PRESSURE
RATING 104 PSF

N /—Caulk filler

Vapor retarder sealant
(see note #1 below)

5/8", 5 ply plywood

on 2x6 studs 16"o.c.
fastened w/8D common
nails @ 8" o.c.

1/4" Gaska Tape,
sealed with caulk,
except for vent
holes 1/8"x3/8",
2 per 8FT section

\ N LA
/
<l
N é g
bt /
Panel adhere \Q N
to plywood \ T 1 [
w/adhesive. \ T
(see details on \ s S g
PANEL ELEVATION) § NSREE~Z
N N
System 6 clip § 1] /—
(see note #5) \ S
\ \\_ /5
Pecora silicone ™ -
sealant ¥ =TS
N
luminum t—sill
flashing

(.016-.040 thk)

@SILL DETAIL

(4) #6 x 1"screws
@ 6" from end &
12" o.c. (see note#3
for screw type)

Self-Healing
Sealant

on 2x6 studs 16"o.c:
fastened w/8D common

#8 x 17screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

System 6 clip
(see note #5)

aluminum
coping cover

(.016—.040 thk) ™~
%

1/4" Gaska Tape
long, every

2"

nails @ 8" o.c.

12" o.c. for venting
Panel adhere to_/
plywood w/ adhesive.
(see details on
PANEL ELEVATION)

5/8", 5 ply plywood

Vapor retarder sealant
(see note #l1 below)

#8 x 1’screws

screw type)

[

12'-0” {max)
Foam tape aluminum " . : . Vents
seal & sgring ] ~ flashing 16" ! 18" 16" 0.C. intermediate Panel adhesive (typ)
. e (.016-.040 thk) | — spacing of 2°x6" studs (see note #4)
oo:oéo i
°on° / —p— e e e e e e T —— T "’4',712'"
= H s
— T 5 S .
! H-molding 1‘“‘ 3 3/4” H-molding @ - dashed lines
™ end of a I* -.gaps and - indicate panel
ESE run (see bétweep fltasglmg/f‘ sizes
L b= i ” furring™ at"top o »
= detail .1) ]_b 8 for E_ ren 16 Caulk
2% l ventilation — Joint
LA HE i o location
uil . — Caulk T
._L{+~—Panel pdhesive 2 . - joint e
|1 (see note #4) e ] ] _—location ~
b1 i . | an —
N // “~ ” / A7 ~ » I
- [ 3 - 16 11 ’» ~. 1] 16
\\ N T T | ] H-modlding S L
’ {‘ Foam tape §j pdnel — . QFoam tapel 71
N L1 —_
\ mel 2 & panel jojnt (see & panel
§ S| B . adhesive 0| deftail .2) adhesive -0
A T = Dglg}; or panélsintery 16" 16" panél.inter| 5/8"
Z e s
___/\ "~ © J~molding /zlnedlanes\ @ 1/1};-: SN Plywood ?entis
11 + at B B l 1 . ; typ
% . bottom -~ '/\' —L i .
| of run < . .
= = 0 .
1 = I I d
ET1 15715 =11 15716 ]
ﬁﬁg of beie i p _ E Polyallomer
= —3/8" {min) " CPA core
1b ) DETAIL PANEL ELEVATION ‘016" white backer majerlal
/
,, ploizs ) emm
5/8", 5 ply plywood #8 x 1”screws / T
@® 4" from panel on 2x6 studs 16"o.c. @® 4" from panel
” " ki
edge & 10" o.c. fastened w/8D common v edge & 10" o.c. :032” aluminum skin
(see note #3 for nails ® 8” o.c. (see note #3 for OME GA—LITE
screw type) 5/8", 5 ply plywood :
Pecora silicone ‘ oﬁ 3%6 thdsI? }Ig"oc PANEL DETAIL
sealant Vapor retarder sealant oo
t ~w/8D. common
(see mote #1 below fest e Aot 4 ArD FOR OFFICAL USE ONLY
T 77 7T 7T 77 7 777 1 7 AT 777 77 A7 7T A FT T T 77 b g with the Florida
AT [ [ 77 7 [ [ J {7 (7 7 1 7 /N [ [ ;7 ;7 [ [ 7 | WN. A
¢ ¢ + t 1+ 1 /4
2 2 14

{
1
B\ X\

I
\

Vs

N VU VO WO WS W
\\\\\S\\\

[-rY-

R

System 6 clip
(see note #5)
j=~—End wall Panel adhesive

Panel
(see note #4)

@END DETAIL

plywood w/ adhesive.
(see details on
PANEL ELEVATION)

1/4” Gaska TapvszX
Panel adhesw

adhere to (see note #4)

4 )JOINT

System 6 clip
(see note #5)

\ \—Panel
Pecora silicone
sealant

Oyad

Fr BOveﬂe FL PE #42485

4031 Coconut Bivd
Palm Bch FL 33411

e

DETAIL

4 (5((5‘/

SYSTEM 6 ON 5/8” PLYWOOD

LAMINATOR'S INC.

Vapor retarder sealant is
called Polybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.

1 "XB ”

NOTE#2:| Wood furring strips
o be

outhern Pine PT
nominal @ 18" o.c.

NOTE#3:|Screw types
EXBulldex screws, stainless steel

Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.

Screw head to be forsw.ssuissy st IEGA STREL -

(see attached documentation for shear
and pullout test results)

Panel adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to plywood, 3"diameter,
3/8" thick, every 16" o.c.

NOTE#5: |See drawing 512-3b
or metal clip detail. Attach

3255 SOUDERTON PIKE
HATFIELD, PA 19440

every 12" o.c. with 1 1/4"

RICHARD BOYETTE, PE PE#42485

ITW Buildex screws. See note
#3 for more detail about

DATE: 5/14/04

REV.DATE:

screw type.

PAGE 2 OF 6

DWG NO: LAM-2




#8 x 1"screws @

#3 for screw type)

4" from panel edge
& 10" o.c. (see note

aluminum
flashing
(.016—.040 thk)

Panel adhere to —"
furring w/ adhesive.
(see details on
PANEL ELEVATION)

la

L~
Panel adhere '
to furring
w/adhesive.

(see details on
PANEL ELEVATION)

bead of silicone
Sealant
drip edge
extrusion

]

—

—
/___

concrete,
/ 3000 psi

—

[

~——TAPCON masonry anchors

| —Vapor retarder sealant

Minimum of 1 1/4” pen. into concrete/cmu

1/4" Gaska Tape,
except for vent
holes 1/8"x3/8",
2 per 8FT section

1/4” Gaska Tape

2" long, every

12" o.c. for venting

| ——— TAPCON masonry anchor

(see note #5)

Wood furring

(see note #2 below)
. aluminum
Panel adhesive coping cover

(see note #4)

(see note #1 below)
Panel adhere to

4

(.016—-.040 thk)
| — Vapor retarder sealant

7

Poured furring w/ adhesive.
concrete, (see details on
3000 psi PANEL ELEVATION)
TIGHT-FIT METHOD
Poured DESIGN PRESSURE
RATING 104 PSF

caulk filler

(see note #5)

FERAIPY )
[.‘ oo obu

#8 x 1"screws
@ 4" from panel

edge & 10" o.c.

(see note #1 below)

Panel adhesive
(see note #4)

~+—(4) #6 x 1”screws

@ 6" from end &

(see note #3 for
screw type)

#8 x 1"screws @
4” from panel edge

edge & 107

o.cC.

(see note #3 for

screw type)

TAPCON masonry anchors

(see note #5)

12" o.c. (see note #3
for screw type)

B

(see note #6)

r 1/8"(min)

f‘ [a/leinufx—x: .

flashing
(.016-.040 thk)

Wood furring
(see note #2 below)

Pecora silicone
sealant

Self—-Healing
Sealant

extrusion
(see note #6)

[NOTE#1: |Vapor retarder sealant is
calle olybrane 171, manufactured
by Vitricon. It is a water shedding,

vapor permeable, liquid applied seal
membrane. Two coats applied.

ND,TE%Z: Wood furring strips
to be Southern Pine PT
{«3" nominal @ 16" o.c.

@SILL DETAIL

Vapor retarder

ooy o 0209024 |
g/

Divigign
TAPCON masonry anchors
(see note #5)

.032”

0 Panel adhesive
Foam tape & 10” o.c. (see note 16" —ole 16" 16" 0.C. intermediate (soe note #4) Vents
seal & spring I #3 for screw type) l spacing of furring strips (typ)
aluminum flashing =
*r” (.016-.040 thk) i i ——a—— ym——
l——1/4" Gaska Tape, g , N
except fox,: vent 2 i H-molding 3/4" H-moldin, = \_ .
holes 1/8"x3/8", vy end of |gaps and ~dashed lines
_ 2 per 8FT section © g run (see Eétvre,g}} ﬂéi/sthmgT ;?:;:ate panel
K » ) il . urring - at"top o ” :
—— 1/4" Gaska Tape i deteil 1) for - run__ 16 Caulk
2" long, every e | ventilation - joint
12" o.c. for ventin " 1 . location
s g Caulk =
_ 2 joint Ll
——— Wood furring ™ L ~location =
' (see note #2 below) - = :{E
4 . w4 Panel adhesive @ T \/ e ~. % 16’
B ' 1 H-mélding ~ '
, / <> (see note #4) z | Boam” tapé || |panel . goam tap _/t
~ g Vapor retarder sealant gdﬁ:anel ‘ ]ornt (se)e dl}laaqel
co . ; esive - detail .2 : esive
(see note #1 below) Drip Idanel intdr ) furring | ldanel. int \
. ?Sgeolcg.' mediaries 16 P \ nediaries | poured
— —-—-Pouredt @ atm 1ng| 1 /\\ i@- [ A ~i | concrete |~ Vents
: ggggre e ; bottom/-/‘[ j__:\ (typ)
4 4 psi i of run 1 -
: i / - ~.
DETAI | RARE LT ¥ RO Polyallomer
—3/8" fit intc extrusion CPA core
” . material
PANEL ELEVATION Pgooecy renewen .015” white backer
as complying with the Florida | r— '
#8 x 1"screws /] 6mm
@ 4" from panel

f

aluminum skin

OMEGA—-LITE

PANEL DETAIL

Panel adhesive

H molding_/"—End wall

Panel adhesive sealant (see note
(see note #4) —\ #1 below) A A/—(see note #4)
4 . - B . Poured concrete,
4 4. 3000 psi
el 7 N B N AL Y VR - /Y S
™ e
—— Air gap

AN

Z
SO

bead of silicone
Sealant

Wood furring
(see note #2 below)

Panel adhere to
furring w/ adhesive.
(see details on PANEL ELEVATION)

N\

(se2 note #6)

SYSTEM 1 ON POURED CONCRETE

— bead of silicone
Sealant

molding extrusion

et

FOR OFFICAL USE ONLY

@END DETAIL @FURRING DETAIL @JOINT DETAIL

[NOTE%-& Screw types

"TtKX Buildex screws, stainless steel

Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.
Screw head to be forswissiwooD on1gen sTEEL.
(see attached documentation for shear
and pullout test results)

Panel adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 3"diameter,

3/8" thick, every 16" o.c.

NOTE#5: I Masonry Anchor type:
odel: PF3-—-134 ITW Ramset Red
Head, 3/16” x 1 3/4", with

1 1/4” embedment @ 6" from
top & bottom, and 12" o.c.

[NOTEZ6:] All extrusion
moldings made of

Alloy 6083, temper T—4.

Thickness is 0.045”.

" R Boyette FL PE #42485

4031 Coconut Bivd
Palm Bch FL 33414

LAMINATOR'S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

DATE: 5/14/04

REV.DATE:

PAGE 3 OF 6

DWG NO: LAM-3

M CCE




#8 x 1"screws

® 4" from panel
A edge & 10" o.c.
[ (see note #3 for

screw t
[

NEE

Minimum of = \ 2
1 1/4” pen. K °°

into concrete/cmu {[33

4

aluminum
flashing
(.016-.040 thk)

Panel adhere to —]
furring w/ adhesive.
(see details on
PANEL ELEVATION)

la

Panel adhere
to furring
w/adhesive.
(see details on
PANEL ELEVATION)

System 6 clip
(see note #6)

Pecora silicone
sealant

]

TR,

System 6 clip

Foam tape
seal & spring

12'-0"

|_——Wood furring

(see note #6)

| 1/4" Gaska Tape
/2" long, every
12" o.c. for venting

—

TAPCON masonry anchors
(see note #5)

(see note #2 below) -/
aluminum
coping cover
(.016—.040 thk)

Panel- adhesive
(see note #4)

| — Vapor retarder sealant
(see note #1 below)
Panel adhere to_/
——_Concrete furring w/ adhesive.
/_block, C~90 (see details on
PANEL ELEVATION)

CLIP & CAULK METHOD
DESIGN PRESSURE
RATING 104 PSF

TAPCON 'masonry anchors
(see note #5)

L — Caulk filler

.__Concrete
block, C—-90

—
| —Vapor retarder sealant

(see note #1 below)

Panel adhesive
" (see note #4)

|_—Wood furring
(see note #2 below)

. —1/4" Gaska Tape,
sealed with caullk,
except for vent
~holes 1/8"x3/8",
2 per 8FT section

#8 x 1"screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

(see note #5)

Pecora silicone
sealant

Panel adhesive
(see note #4) A

TAPCON masonry anchors—7

16" 16" 0.C. intermediate

. N
{max;

Panel adhesive
/; (see note #4)

]
i

i

PANEL ELEVATION

aluminum 16" ! : : . i&ent)s
ERED flashing | I spacing of furring strips ittyp
- e (.016-.040 thk) = |
S e —— — ———
| “A"vy = System 6 clip i 0 —
| V"‘ (see note #86) ‘ T ‘ —
J ’Q‘Q’Q‘ % H-molding 3/4" H~moldin \ L
< ’ ‘ ‘ > - end of Leaps and R L ~dashed lines
st (XXX » o see “between flashing™ indicate panel
i > 1/4” Gaska Tape run ( veen 23 4
L@ """ " = i furring™ at"top of " sizes
= SIS 2" long, every P detail .1) for T8 AR 16 1 | caulk
.! Q:.:’:‘ 12" o.c. for venting g -m / _,vsntﬂi;tion "~ - { gg;ii -
’.:.’9 —— Wood furring ; . ‘C:igltk — T \
‘)".:“ (see note #2 below) o 1] /{ocation ‘ T =
:"‘.‘: Panel adhesive L iy \ 4 — EiE
S see note #4 i R 7 ~ " rps e
“",’/‘G Vapor retarder sealant ! .| BFoam’ tape [ [penel > | WHoam’ tape f§ | A"
’("” (see note #1 below) w 3 panel Tjomt (see . & panel
""". g Dri adhesive -9 Q:ail .2) dhesive .
— N panél inter » » anel..in
X2 Concrete = rip ‘ % 16 el int concrete
”"z block, C—90 . ?Egolc:lling imediaries | 16 nediaries block - Vents
NI s | s AN | 2 ety /W
N\ i bottom .- R —[I strip “
| of run = < ™~
1b) DETAIL 4:—(—_‘ - M
—3/8" (min} Polyallomer

CPA core

PRODUET RENEWED -015" white backer material
i‘;ﬁ q;;:yug with the Flonida / ;
#8 x 1'screws ::Node 072-0402. i4.
@ 4" from panel w% V / 6mm
rm S

edge & 10" o.c.
(see note #3 for
screw type)

Vapor retarder
sealant (see note
#1 below) A

<
X

KKK
SRAKRKS
SRRRKHKHKS
SRS

P
\

————— Air gap

NN

R

~—(4) #6 x 1’screws

I .
@{ninum L sill
flashing

(.016—.040_thk)

< )SILL DETAIL

|NOTE#1: IVapor retarder sealant is
calle olybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.
N")TE%Z: ] Wood furring strips

to e Southern Pine PT

I'x3" nominal @ 16" o.c.

@ 6" from end &
12" o.c. (see note
#3 for screw type)

Self—Healing
Sealant

<+System 6 clip
(see note #8)

End wall

1/4" Gaska Tape

Panel adhere to
furring w/ adhesive.
(see details on PANEL
ELEVATION)

5

1/4” Gaska Tape—/

System 6 clip
(see note #6)

JOINT DETAIL

Pecora silicon
sealant

<§>END DETAHJ<E>FURRDK}IETAHJ

TAPCON masonry
anchors
(see note #5)

N

Bl Product Control L.OBZ" aluminum skin

f

OMEGA-LITE

PANEL DETAIL

Concrete block, C—90

Panel adhesive
(see note #4)

N
B:byeu@ FLpE
fo 31 Cocoﬁut Blv%/85

yal Palm Bch FL 33411

FOR OFFICAL USE ONLY

SYSTEM 8 ON CONCRETE BLOCK

LAMINATOR'S INC.
3255 SOUDERTON PIKE

[NOTE?B:IScreW types
"TERBuildex screws, stainless steel

Wood screws, hot dipped galv.
Sheet metal screws, stainless steel.

Screw head to be for su.ss wes® on \Boa STEEL.

(see attached documentation for shear
and pullout test results)

NQOTE#4:| Panel adhesive to
b

e Liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 3"diameter,
3/8” thick, every 16" o.c.

IMJTE#& Masonry Anchor type:
Model: PF3—214 ITW Ramset Red

Head, 3/16" x 72.°\/4", with
1 1/2" embedment @ 6" from
top & bottom, and 12" o.c.

NOTE#6: | See drawing 512-3b

for metal clip detail. Attach
every 12” o.c. with 1 1/4"
ITW Buildex screws. See note
#3 for more detail about
screw type.

HATFIELD, PA 19440

RICHARD BOYETTE, PE

PE#42485

DATE: 5/14/04

REV.DATE:

PAGE 4 OF 6

DWG NO: LAM-4




#8 x 1”screws
@ 4" from panel
edge & 10" o.c.

12 =07 (max)} . :

(see note #3 for
screw type)

System 4—1
‘angle (see
note #6)

Pop rivet—j

(see note

#) é/
aluminum

flashing
(.016-.040 thk)

A

Panel

Y

@ DETAIL

+1 1/2"

Panel

Pop rivet —
(see note

#7)

.| ~——Wood furring

- | — Vapor retarder sealant

Minimum of — . Poured

1 1/4" pen. 4 concrete, furring w/ adhesive.

into concrete/ \ ‘ - 3000 psi (see details on «
cmu N 7 PANEL ELEVATION)

~1—_Poured concrete,

1/4” Gaska Tape
2" long, every
12" o.c. for venting

——
| ——TAPCON masonry anchors

see note #5
( #5) Pop rivet
(see note
#7)
(see note #2 below)

aluminum
coping cover
(.016—.040 thk)

Panel adhesive

L~ (see note #4)

(see note #1 below)
Panel adhere to—/

Foam tape
seal & spring ;

A S,

e

1b) DETAIL

TAPCON masonry anchors
(see note #5)

~—#8 x 1"screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

_4—Caulk filler

3000 psi

-
|—Vapor retarder sealant

(see note #1 below)

Panel adhesive anchors

TAPCON masonry

i
System 4 angle 5 » EVents
f " ” 16" 0.C. intermediate ; i
(see ‘note #6) £ 16 16 —l spacing of furring strips [ Fanel adhesive I(typ)
|_—aluminum ’ == see note #4) :
flashing -
(.016—.040 thk) s o —— el
° ;' - R -~ -
TAPCON masonry anchors ! ’ " - N \
: H-moldi ; 3/4 H—-moldin B
;_ (see note #5) - em;n gf 108 Ta'\ géps and 14 ul —fias.hed lines
E”: run (see ‘Bgtw_egg ﬂaspmg/ 11}d1cate panel
'./~Wood furring ,-;5 detail .1) @ §L1:r1ng”‘ :;Lm top of Caulk sizes
(see note #2 below) __%:C, / ventilation Tk 4 %Ointt'
A3 4. ocation
Panel adhesive . N g 7 Caulk T
"~ (see note #4) ® B joint AN
- oy e L—location = )
. y~—Vapor retarder sealant | _: Bl 4y E3 ==
(see note #1 below) 5 S - A ' -
] o oam < . foam Y
| - Poured @ s 0 tape & XJ|H-molding S tape & @ o T
e t i . panel panel fuITlng "»\ panel = ? ;
1" concrete, = [ jadhesive ®ljoint (see | [ |doubled adhesive QB8R
. 3000 ps1 © i entire - detail 2) to reach entire - q-.?m
A g 5 Drip length o : back of length o #0_,
R =~ edge or furring. pane .fm’-%in poured g‘SLL
9 - J-molding{j§2- ™ /‘\g.: concrete ~ Vents 5 SE
S om - 1\ E T ) @ S
= i of g,m’ ; - ) , o gs—)a
£l 1/2" g ! - ./ 284 4
— 5 —— 853
; 531 HE7i6 T 53— 18/16 — o QO: Y
’ = = /87 (min) ‘
S/ minj Polyailomer
V—GROOVE & BEND METHOD PANEL ELEVATION . - CPA cove
DESIGN PRESSURE PRODUCT RENEWED .015" white backer -
RATING 104 PSF as complying with the Flonda material
#8 x 1'screws BU""SCO‘: e / |
@ 4" from panel Actepmnce Noly
edge & 10" oc.  ExpmenDecdl/os, 6mm
(see note #3 for By ( - / L ]
screw type) g"‘m:m .032” aluminum skin
\'; retard S T
apor retarder sealant zﬁiﬁgfs masonry OMJ’L G_A__LITE

(see note #1 below)7\

PANEL DETAIL

(see note #5)

WY T 7 g

(.016-.040 thk

)
@sm DETAIL

INOTE#I: lVapor retarder sealant is
calle olybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.
NQ_TE%Z: ] Wood furring strips

e be Southern Pine PT

I'*3" nominal @ 16" o.c.

#3 for screw type)

sealant
t=—End wall

Backer rod, sealed
withcaulk, except

for vent holes 1/8"x3/8",
2 per 8FT section

Pecora silicone—System 4 angle
(see note #6)

LPanel adhere to furring w/ adhesive.
(see details on PANEL ELEVATION)

I

5§
L

- /poured concrete, 3000 psi
S Panel adhesive
(see note #4)

Wood furring
(see note #2 below)

1/4" Gaska Tape

Pop rivet
(see note #7)

Systl.ern 4 v " (see note #4) (ﬁee note #5)
;g%ee #(gf ¢ - “ |_~—Wood furring : .
/ (see note #2 below) " V .4 a K
Self-Healing RN\ 24 4 Y e o
Sealant ‘\\“‘ - |—1/4" Gaska Tape, 4 g . ]
%‘l_\\‘.’.;. / sealed with caulk, <a<>P et i <P
Pecora YN A except for vent -Fop rive —H
silicone '! 4. =-holes 1/8"x3/8", e (see note #7) E:’<“ Z{oo;l furring o —
sealant ¢ 20 P 2 per BFT section 5 Panel i oubled to PR 22
\4\ (4) 46 x 1" ogioo"[ adhesive reach panel i}V/‘§[ZJQ
Yo T — x 1"screws o 0% Bl o Ul
5 0% see note #4 = ke o0 7N
{ i T oo rmeads KoY 2 BT et
'11 » R 7
\flashing si 12" o.c. (see note N \1%/ /// 7 7 =

Pecora silicone
sealant

System 4 angle
(see note #8)

FOR OFFICAL USE ONLY

SYSTEM 4 ON POURED CONCRETE

LAMINATOR’S INC.

@END DETAIL( 4 FURRING DETAIL@JQINT DETAIL

3255 SOUDERTON PIKE

| NOTE#3:| Screw types

‘TEKBuildex screws, stainless steel

Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.

Screw head to be forsamswosw on vgaA sTEEL .
(see attached documentation for shear
and pullout test results)

construc

furring.

NOTE#4:
pe Liquid Nails, heavy duty

to furring strips, 1/2"dia.,
3/8" thick, entire length of

; [NOTEﬁS:!Masonry Anchor type:
Panel adhesive to odel: PF3—-134 ITW Ramset Red
Head, 3/16" x 1 3/4", with

1 1/4" embedment @ 6" from

top & bottom, and 12" o.c.

tion, LN901, applied

EOTE#G: ]System 4 angle made
lof 3003 aluminum, 1/2 to 1/3
hard H14-16. Placed 6" to 12"
from ends, and every 24" o.c.
NOTE#7: |[Pop rivets are 1/8"
aluminum rivet & plain steel
mandrel, 2 per system 4 angle

HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

DATE: 5/14/04 |REV.DATE:

PAGE 5 OF 6

DWG NO: LAM-5




#8 x 1”screws

System 4
angle (see
note #6)

Pop rivet
(see note
#7)

aluminum
flashing
(.016—.040 thk)

]

Minimum of —
1 1/4" pen.
into concrete/
cmu

o oe

7z
3

Panel

A A,

|

N

(1

7,

a

DETAIL

Panel

////L///

Pop rivet
(see note #7)

System 4
angle (see \
note #6)

Self-Healing
Sealant

777777

Pecora
silicone
sealant

XIS
&

A\

.‘. %
<
<
X

X

WAV ¢
0
K

O

%

X
&

%)

o\
S

SRS
6202

%
XX
20000

L

"9
3%
RS

NP

&>

i ___Concrete
block, C-90

|_—Vapor retarder sealant
(see note #1 below)

Panel adhesive
(see note #4)

| ~—Wood furring
(see note #2 below)

\!

—1/4" Gaska Tape,
sealed with caulk,
except for vent
—holes 1/8"x3/8",
2 per 8FT section

{ luminum
-—flashing

(.016—.040 thk)

@SILL DETAIL

by Vitricon.

membrane. Two coats applied.
NOTE%Z: Wood furring strips
1o be Southern Pine PT

"% 3" nominal @ 16" o.c.

[NOTE#l: Vapor retarder sealant is

calle olybrane 171, manufactured
It is a water shedding,
vapor permeable, liquid applied seal

" (4) #6 x 1’screws
@ 6" from end &
12" o.c. (see note
#3 for screw type)

Backer rod, sealed
withcaulk, except

for vent holes 1/87x3/8"
2 per 8FT section

4

-6

Py el

B

fyrmarl

yunax}

;Vents

Ve %@ s/t

(see note #3 for
screw type)

TAPCON masonry anchors

(see note #5) (see
A _\ I

Vapor retarder sealant

note #1 below)7

(see note #3 for By A

screw type)
Divipgn

y & e =
Miarhy Dadv Product Control

TAPCON masonry anchors

(see note #5)

KOS

X
%

Wood furring

doubled to

\ i
1% %% 0%
<=..Pop rivet i
(see note #7) i
Panel :
adhesive

(see note #4)

reach panel

fPecora silicone—System 4 angle LPanel
sealant (see note #6)

le—=FHEnd wall

adhere to furring w/ adhesive.

(see details on PANEL ELEVATION)

T .
7 /I.Il‘il'/.ll‘\

N /k S e ;
4/

99:9.9.9.8
KX XX

CANA Y. 2 AN

Panel

Wood f

N
N

Pecora silicone
sealant :

.@END DETAIL @FURRING DETAIL@MNT DETAIL

adhesive

(see note #4)

urring

1/4" Gaska Tape

Pop rivet
(see note #7)

System 4 angle
(see note #8)

e@d;; irolrg" poézel Foalm tape. System 4 angle 16" 16" __’ 16" OC intermediate Panel adhesive (typ)
(see note #3 for seal & spring (see note #6) _ spacing of furring strips F(iee note #4) f
screw type) aluminum - -
’ flashing = — e et =
1/415 Gaska Tape (.016—.040 thk) i " o -
/2" long, every e TAPCON ry anchors ; e H—én oldin ~ \ dashed lines
12" o.c. for ventin NS mason w end of | gaps an - -das!
- ¢ ‘ \% N é_—(see note #5) o run (see between flashing™ indicate panel
k[‘_ = detail .1) :urrmg at"top of Coulk sizes
e = or __— run i
_———TAPCON masonry anchors _~Wood furring £ / ventilation — joint
(see note #5) Pop rivet —H 3 (see note #2 below) N g o 1k 4 i location
i(;%e note / § Panel adhesive m ‘ - - JC;E*-_ % ~ =
|_—Wood furring " (see note #4) 1 : | = 4_/ location = |
(see note #2 below)l ) _/ % |, —Vapor retarder sealant, ; _\:I - paiiN | - o T
aluminum : Ny oam (o g foam ~ Aoy
/_Panel adhesive coping cover \ (see note #1 below) @} 0™ - tapez‘ H-mdlding ¢ N~ tapezcY 4 (%'cc?)
(see note #4) (.016~.040 thk) \ c e . A panel panel durrglllgd\ panel N5
L ~Concrete “ adhesive[ A joint (see ouble ladhesive #*=0_,
| — Vapor retarder sealant \ block, C-90 a . rentire Ml detail .2) to reach entire - \ WS
(see note #1 below) ' & Drip length o . back of gth m’c'c(
st edge or gL ne lengtfl;\ e ouref'X 488
_/\ — 2 J—fnolding ;urnng.\ pe Hurring. | lc)oncrgte ~Vents L &
?—Concrete Panel adhere to \ kS at Z B __l]\_ (typ) 0O £ ]
block, C—90 furring w/ adhesive. \ ; bottom | ANy d . - gc,; S
(see details on \ “ | of run - - . 503
PANEL ELEVATION) AN ! : 0] /| o M)
B s s ot Bt e JESS— 2y m
i @ DETAIL = 51l [15/16 - E—i1 15716 q
TAPCON masonry anchors 44 . /6" {min} Polyallomer
TAPCON masonry PANEL ELEVATION'“gpoer mnlll, ) - Co some
. > RENEWED —.015" white backer terial
48 x 1"screws V-GROOVE & BEND METHOD 5 = 0 materia
. » DESIGN PRESSURE X 1l screws
X —Caulk filler e@d g‘*e ir°1r51" Poagel RATING 104 PSF @ 4" from panel ‘L
o edge & 10" o.c. / 6mm

Concrete block, c-90

(see note #2 below)

L

-032”

OMEGA-LITE

f

aluminum skin

PANEL DETAIL

FOR OFFICAL USE ONLY

SYSTEM 4 ON CONCRETE BLOCK

NOTE#&] Screw types
) uildex screws, stainless steel

Wood screws, hot dipped galv.
Sheet metal screws, stainless

Screw head to be for $6.55wosd ok, @6k STEEL.
(see attached documentation for shear

and pullout test results)

Panel adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 1/2"dia.,
3/8" thick, entire length of
furring.

steel.

NOTE#5. |Masonry Anchor type: ‘
Model: PF3-=214 ITW Ramset Red

Head, 3/16" x 2 !/4", with
1 1/2 embedment @® 6" from
top & bottom, and 12" o.c.

MOTE#B: ]System 4 angle made
of 3003 aluminum, 1/2 to 1/3
hard H14-16. Placed 6" to 12"
from ends, and every 24" o.c.
NOTE#7: [Pop rivets are 1/8"
aluminum rivet & plain steel
mandrel, 2 per system 4 angle.

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

DATE: 5/14/04

REV.DATE:

PAGE 6 OF 6

DWG NO: LAM—-6




